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—= Please use English to answer the following questions ( 35 v

(1) Comment the statement: Are happy workers always productive workers? ( 10 )
(2) How to utilize human resource management practices (e.g., work design, reward system,
cmployee empowerment) to motivate employees and promote their job performance?

(2543)
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1. {ATEE#E#538 B (organizational development) ? (10 43)
2. fAEEAE AR (organizational learning) 7 (10 43)
3. BTN RES EMNEE ? (105)
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LAEMAD B REEHMAAME - H &5 EE%A EbF & (quantitative
methods)i# 47 » A L KA €K A E M F & (qualitative methods) i
o FRAETMAREELAREAAREA LN REZESHMM T ME
PR R EBGEEE AT (20 &4)
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3. ARAH A E AN B iR #E (human resource planning) &4 m& 2 & 4T HF
X R e TR R T HREAE D - G4 TR HEA T
BEyRREFETERABLEREE? (20 4)
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Rl RERBEFRIBANEERE (RABGHUEHLE) 2%
OHBR I RASRETREMT NS THLE) RRRDAZHE? (54)
@#EL THAL B HUEErREZAR - (59)
OHRAER I RTER  HERATEZRALTLARE. - (54)

F1 RARFHERLEE

% A i i A
N % MZE N %
% B 571 52.5 561 6036036 51.6
ES 517 475 527 5656071 484
£ R E T X'=0368 <3.841 df=1 p>0.05
2029 & 232 213 279 3006714 25.7
# [(0395E 321 295 787 3080909 264
40-49 & 271 240 216 2319032 9.3
% [50-59 & 102 g7 124 1330623 1.4
60 g B I 162 14.9 182 1953879 16.7
| £ F_ #  E T X’=32.05] >9.488 df=4  p<0.05
RE[EEE 351 309 361 3214243 42.0
% [EEF 383 445 374 3322087 435
LA ET ) 125 14.6 124 1105632 143
+ & # X X*=0502 <5991 df=2 p>0.05
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Descriptive Statistics

N Mean Std. Dev. Skewness
Statistic Statistic Std. Error Statistic Statistic Std. Ertor
&R 76 27.6343 2.3365 203690 -.083 776
FErnEh 76 27.629 3.096 26.991 571 276
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RREFFEL THBRANE S pEHEB AL BE ) A% a8 AL A R,
EXABPEEEIMETRTHRELE  #ER N0 DA HKME « BT ELMA » #
FENHEAUTEH P E Py 248K EEEN 3 BEE - C F Cus 2y 21 85 A&
HEXRNISBEA > MEAEXHA LKt ERREEX WA MANEBALKER >
SIAMR (25 - XWE) AR S ARY (A28 E2WE) S ATH
FECHBREXREL  TABRELYE) BETEGE P LadEfs) - THS
ROEERAETA) - TREASR BE800 R THARTHLE) WEST: T4
BAH) AETHREE (EEASL - PEHRS] R TEEAR) SEHE -
AASTIRL LRE  SREHEII AT A RO AR B A DR
R TEERC I - CARR - FLURENSEL FEBE  FEILEE RN OLHOR
RO RATHRER - IR HESIER - BOSEHETORE FEEEE
QT ERFETRE - RREEOMTRERNEAMTE) (225 4)
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